Physical Systems – spring 2007

EM HW 2a Tues.10 April 2007  Griffiths Ch.7 #34, 42, 53.  Extra: 58 (a-c)
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(c) Using the result in (a), solve these equations for I1(t) and I2(t).  Assume I1 has no DC component.

(d)  Show that the output voltage (Vout=I2R) divided by the input voltage (Vin) is equal to the turns ratio: Vin/Vout = N2/N1.

(e)  Calculate the input power (Pin = Vin I1) and the output power (Pout = Vout I2) and show that their averages over a full cycle are equal.
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EM HW 2b Thus.12 April 2007  Griffiths Ch.8 # 1(a).  Extra:  #1(b)
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